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1. f(z) = cos(sin<ln(zz ii))) +Siﬂ(¢°5(l"(i§ii))>

A. [cos(sin 1), sin(cos 1)]

B. [sin(cos 1) + 1, cos(sin1)]
C.[cos(sin1) + sin(cos 1), 1 + sin1)

D. [sin(cos 1) + 1, cos(sin1)]

Answer: C
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(A*)  Limit  f(x) =1 (B¥) lel% f(x) Remm a8 &
X = =1 X —
. _ ; 0 Limit = 1
(C*) }-llm’_ fx)=1 (D*) x‘2|0‘ f(x) KLl—T'(tJ_ fix)

(E)—18N 1% 71 y8® ¢ W xLimlth(x) fema 2

(F*) =131 0% =g wed® c W Limit f(x) Re=m &)

(A) Limit f(z) =

z— —17

(8) Limit f(z) faemm T8

(c) Limit f(z) =
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Answer: B
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D.k=4

Answer: A::C::D
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Column - | Column - 11
{A) f(x} = sgn {x} (p) (1
(B) fix) = — | (q) 0.1
cos {x}
[ -1
©) fx)= 20 X (n (0 1
] 2 )
(D) fix) = —sin' [x* +x + 1) (s) [0 1]
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